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A= (=V0)" = (-v5) = V(-2 B= V& (-v2)" + \/(-5)*x
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T oA 1% - 2x -8 T 4x? + 5x - 6 ] T Q15E ALl LA
Ql

@ 4x-3 @ 5x-1 @ 2x-2

x> —2x—8=(x+2)(x-4)

4x% +5x -6 = (4x - 3)(x + 2)

T35 Q= (x+2) 0],

20l Q4B ASIT Ll A] Q5] G (v—4) + (4r-3) =
5x — 7 °|tt.




15, (x=-3)(x+1) = (x=3)2+6(x+1)? = A5EalctH?

® (3x+2)(x+2) @)2(3x-1)(x +3)
® 2(3x+1)(x-3) @ 4(2x—2)(x+3)
® -2(3x-2)(x-3)

B

x+1=A, x—-3=B=Z X3s5}H

6(x+1)* + (x=3)(x+1) - (x = 3)?

=6A% +AB-B?> = (2A + B)(3A-B)
={2x+1)+(x-3)} {3(x+1) - (x-3)}
=Bx-1)(2x+6) =2(3x—1)(x+ 3)
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A=-12+22-3%2+42-52 462
-7% +82-9%2 +10?
= (22 —12) + (42 - 32)+
(62 - 52) + (82 - 72) + (102 - 9?)
=2-1)2+1)+(4-3)(4+3)+(6-5)
(6+5)+(8-7)(8+7)+ (10— 9)(10 + 9)
— S L L 1 T
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— (VB -4=2
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@ x:7\/§’y:7\/§

B
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Ox2V2+Ox V3 & otd
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a’*b + ab* = ab(a + b) = 12

a® +b® = (a+b)® - 3ab(a + b) = 28
a+b=X, ab=Y = *|gs}HA

XY =12, X3 -3XY =28

L X=4Y=3

watA @2 4 b% = X2 - 2Y = 16 - 6 = 10 ©|c}.




